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¥ TZ(N) Series B5485 test app.
TEMPERATURE CONTROLLER
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Fig.1 Main screen

Comm. status: TX (Higher LED)/RX (Lower LED)
Green: Succeed Yellow: Fail
Viewer : Display selected address and the PO value by 7—segment type
Clicking a viewer, Fig. 2 is appeared.
Application value : Bankl — Select Bank 1
PNP — Increase address automatically
Autoscan — Polling every constant time
Address : Display the searched address, add or delete
Send : Send a packet data to comm. line. Display the processing status.
When Autoscan setting is unlocked, it enables to input.
CRC : Show the calculated value of sending packet plus ETX CRC

Received packet: Display the data, received from comm. line, by HEX value.

Setup RS232C/RS485 X
RS232C .
Part : [EENE
Speed :|3600 -
Parity ¢ [Mone -

Data:|8-tit = [ oK |

Stop ¢ 1-bit x| Cancel

Fig.2 comm. conditions
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Setting a communication condition is available.
* Port

N
[_ L[]
I

5 7e00

115200
128000
ZBR000

* Parity

Maone v|

Mone

Even
* Data
8-bit - |

-bit ]
a-hit

* Stop
1-hit - |
1-bit

OK : When changing comm. conditions, close the comm. port and then open it again.

Cancel: Cancel the set value



CRC (Cyclic Redundancy Check)
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Chart1. CRCS8 Table

Ex) Calculate below MT4 series packet by Cyclic Redundancy Check

STX Addr. Command Code ETX | CRC

ASCII STX 0 6 R X P 0 ETX | CRC

Hexadecimal 02h 30h 36h 52h 58h 50h 30h 03h 2Dh

Binary 0000001000110000{00110110{01010010|01011000{01010000{00110000{00000011 00101101

CRC checking from the next of STX to the before of CRC char by using the table.
a. XOR with a calculated value. (In case of the head char., XOR with 00)
b. Use the calculated value as an index.

c. Get a matched value with index. Repeat it from ‘a’ until it's finished.



Table]00 0 30| = BE
TablefBE [ 3g] = 4E
Tablef4E [ 52] = 3E
Table[3E [ 58] = B8
Table{B8 [ 50| = 2B
Table{2B (1 30| = BD
TablelBD 00 03] = 2D

2. 2D, the last value of #1, is used as CRC value.

<Implement CRC code by ANSI-C>

const unsigned char CRC8_table[256] = {

I

0x00,
0xc2,
0x9d,
0x5f,
0x23,
Oxet,
Oxbe,
O0x7c,
0x46,
0x84,
Oxdb,
0x19,
0x65,
Oxa7,
0xf8,
0x3a,
0x8¢,
Ox4e,
0x11,
0xd3,
Oxaf,
0x6d,
0x32,
0xfO0,
Oxca,
0x08,
0x57,
0x95,
0xe9,
0x2b,
0x74,
0xb6,

Oxbe,
0x9c,
0xc3,
0x01,
0x7d,
Oxbf,
0xe0,
0x22,
0x18,
Oxda,
0x85,
0x47,
0x3b,
0xf9,
0xab,
0x64,
0xd2,
0x10,
0x4f,
0x8d,
Oxf1,
0x38,
Ox6c¢,
Oxae,
0x94,
0x56,
0x09,
Oxcb,
0xb7,
0x75,
Ox2a,
Oxe8,

Oxbc,
Ox7e,
0x21,
0xe3,
0x9f,
0x5d,
0x02,
0xcO0,
Oxfa,
0x38,
0x67,
Oxab,
0xd9,
Ox1b,
0x44,
0x86,
0x30,
0xf2,
Oxad,
0x6f,
0x183,
Oxd1,
0x8e,
Ox4c,
0x76,
Oxb4,
Oxeb,
0x29,
0x55,
0x97,
0xc8,
0x0a,

Oxe2,
0x20,
0ox7f,
Oxbd,
Oxct,
0x083,
0x5c,
0x%e,
Oxa4,
0x66,
0x39,
Oxfb,
0x87,
0x45,
Ox1a,
0xds,
Ox6e,
Oxac,
0xf3,
0x31,
Ox4d,
0x8f,
0xdO0,
0x12,
0x28,
Oxea,
0xb5,
0x77,
0x0b,
0xc9,
0x96,
0x54,

0x61,
0xa3,
Oxfc,
0x3e,
0x42,
0x80,
Oxdf,
0x1d,
0x27,
Oxeb,
Oxba,
0x78,
0x04,
0xc6,
0x99,
0x5b,
Oxed,
0x2f,
0x70,
0xb2,
Oxce,
0x0c,
0x583,
0x91,
Oxab,
0x69,
0x36,
0xf4,
0x88,
Ox4a,
0x15,
0xd7,

0x3f,
Oxfd,
Oxa2,
0x60,
Ox1c,
Oxde,
0x81,
0x43,
0x79,
Oxbb,
Oxe4,
0x26,
0x5a,
0x98,
0xc7,
0x05,
0xb3,
0x71,
0x2e,
Oxec,
0x90,
0x52,
0x0d,
Oxcf,
0xf5,
0x37,
0x68,
Oxaa,
0xd6,
0x14,
Ox4b,
0x89,

/* The function for checking one CRC */

unsigned char CRC8_Check(unsigned char CRC,

{

Oxdd,
Ox1f,
0x40,
0x82,
Oxfe,
0x3c,
0x63,
Oxat,
0x9b,
0x59,
0x06,
Oxc4,
0xb8,
Ox7a,
0x25,
Oxe7,
0x51,
0x93,
Oxcc,
0x0e,
0x72,
0xb0,
Oxef,
Ox2d,
0x17,
Oxd5,
Ox8a,
0x48,
0x34,
0xf6,
0xa9,
Ox6b,

0x883,
0x41,
Ox1e,
Oxdc,
0xa0,
0x62,
0x3d,
Oxff,
0xch,
0x07,
0x58,
0x9a,
0xeb6,
0x24,
0x7Db,
0xb9,
0x0f,
Oxcd,
0x92,
0x50,
0x2c,
Oxee,
Oxb1,
0x73,
0x49,
0x8b,
Oxd4,
0x16,
Ox6a,
0xa8,
Oxf7,
0x35

unsigned char data)



return CRC8_table[CRC ~ data]l;
}

/* The function for checking the packet of CRC */
unsigned char CRC8_Packet(unsigned char* packet, int size)

{
unsigned char CRC = 0x00;
while(size——) { CRC = CRC8_table[CRC ~ #packet++]; }
return CRC;

BCC (Block Check Character)

Ex) Calculate TZ(N) series packet by Block Check Character

STX Addr. Command Code ETX | BCC

ASCII STX 0 6 R X P 0 ETX | BCC
Hexadecimal 02h 30h 36h 52h 58h 50h 30h 03h 6Fh
Binary 00000010/00110000{00110110{01010010]01011000{01010000{00110000{00000011| 01101111

Operate XOR from the next letter of STX to the letter before BCC.
300360520580 500 300 03=6F

Implement BCC code by ANSI-C

/* The function for checking the packet of BCC */
unsigned char BCC_packet(unsigned char =*packet, int size)
{

unsigned char BCC = 0x00;

while(size—) { BCC "= *packet++; }

return BCC;




